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Lecture outlook

Introduction to particle accelerators and detectors
Basic principles of particle accelerators
Fixed target and collider experiments
Luminosity
Basic building blocks of a particle physics experiments

Data analysis tools:
Variables in the laboratory frame
Momentum conservation: 

• Transverse momentum and missing mass
• Examples: two jets events, three jet events, W discovery

Method of invariant mass
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Laboratory frame
The momentum of each particle produced in a collision can be decomposed in:

Component parallel to the beams (longitudinal, parallel to z)
Component perpendicular to the beams (transverse, in x-y plane)
The transverse component is: PT = P sin(θCM)

Example: 
Longitudinal and transverse momentum in proton-antiproton scattering
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Pseudorapidity
To measure the longitudinal angle of the emerging particle jet one usually 
uses a variable called pseudo-rapidity

The pseudorapidity (η) is Lorentz invariant under longitudinal boosts
Momenta in the transverse plane are also invariant under longitudinal 
relativistic transformations
Distance between particles or jets is usually measured in the (η,ϕ) plane
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Pseudorapidity
Particles produced at θ=90° have zero pseudorapidity
High |η| values are equivalent to very shallow scattering angles
Typical coverage of central detectors extends to |η|~3. 

Coverage of high rapidities (θ<5°) achieved with detectors at large z positions
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Collider physics
Experiments in hadron colliders usually deal with particles at high 
transverse momentum
Reasons:

Incoming particles collide head-on (no transverse momentum)
Final state particles must have zero total transverse momentum
Hard processes (large momentum transfer) produce particles in the center of the 
detector

Example: proton + antiproton → jet + jet 
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Two jets events in eta,phi plane

7

The momentum of each charged 
particle in a jet is measured by the
central tracking chamber

The calorimeter measures the
deposited energy in cells of
the (η,ϕ) plane (including
neutral particles)

Histogram shows the energy
in each cell
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Two jets events 
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Pz(1) = -Pz(2)

Jet 1

Jet 2

PT(1) = -PT(2)

P(1,2)=ΣiPi(1,2)

Total jet momentum
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Three jets in e+e- annihilation
Electron-proton pairs can annihilate producing quark pairs (e.g. at LEP)
In some cases, a gluon can be radiated from the out-coming quark

In the latter case one observes three particle jets in the final state:
Two quark jets and one gluon jet

If no particle escapes the detector the three jets must have total transverse 
energy equal to zero
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Missing mass
A collision is characterized by an initial total energy and momentum (Ein, pin)
In the final state we have n particles:

E=ΣiEi, p=Σipi

Sometime we measure E<Ein and p≠pin

In this case one of more particles have not been detected
Typically: neutral particles
Most often neutrinos, but also neutrons, π0, K0L (the latter for long decay time)

We define the concept of missing mass:

If the spectrum of the missing mass has a well-defined peak one particle has 
escaped our detector
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Missing mass = [(Ein-E)2-(pin-p)2]1/2
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W boson decays
The W boson is produced in proton collisions mainly via the following 
process:

A u-quark collides with a anti-d quark producing a W+ boson
The W+ decays into lepton (muon) and neutrino pairs
The muon is detected and its momentum can be measured
The neutrino escapes the detector undetected:
The total sum of the transverse momenta is not zero!

In other words, the experimental signature of the neutrino in the experiment is 
the missing transverse momentum
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Example: W boson discovery
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Invariant mass
The invariant mass is a characteristic of the total energy and momentum of 
an object or a system of objects that is the same in all frames of reference. 
When the system as a whole is at rest, the invariant mass is equal to the 
total energy of the system divided by c2. If the system is one particle, the 
invariant mass may also be called the rest mass.

For a system of N particles:

where W is the invariant mass of the decaying particle

In a two body decay M→1+2:
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natural units (c=1):
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Invariant mass: applications
Particles like ρ, ω, ϕ have average lifetime of 10-22-10-23 s

How do we know of their existence if they live so shortly?

Example: reaction pp→ppπ+π-

We identify all four particles in the final state and measure their momentum
Let’s focus on the pion pair, the total energy & momentum are:

The invariant mass is:

The event distribution for the variable M will look like:
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Example: Z discovery
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The Z boson was discovered in 1984 in proton-proton collisions.
The boson decays into e+e- pairs (white dashed lines)
The invariant mass of the two particles was ~92 GeV

Z→e+e-
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Example: π0 reconstruction
Neutral pions decay in photon pairs

Measuring the angle and energy of the emitted photons one can reconstruct the 
mass of the decaying pion
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Abbildung 71: a) π0
-Zerfall in 2γ im Labor (links) und im Ruhesystem des π0

(rechts); b) Emission der 2γ
unter dem minimalen Öffnungswinkel im Labor.

des π0
(Σ∗

) werden die zwei Photonen entgegengesetzt emittiert, jedes mit der Energie

E∗ =
m

2
(291)

(Energie- und Impulserhaltung) und mit dem Impuls

p∗ = E∗, (292)

da Photonen masselos sind. Wir bezeichnen mit θ∗ den Emissionswinkel eines der zwei

Photonen (das zweite γ wird dann unter dem Winkel θ∗ + π emittiert). Nach (289) sind

im Laborsystem die Energien der Photonen

E1 = γ
m

2
+ βγ

m

2
cos θ∗ = γ

m

2
(1 + β cos θ∗),

E2 = γ
m

2
− βγ

m

2
cos θ∗ = γ

m

2
(1− β cos θ∗), (293)

und somit ist

E1 + E2 = γm (294)

die totale Energie des π0
im Labor. Setzt man die Energien m/2 = hν in (293) ein, so

erkennt man die bekannte Formel für die Dopplerverschiebung einer Lichtquelle, die

sich mit relativistischer Geschwindigkeit bewegt (γ > 1). Nach (289) findet man die

Komponenten des Impulses:

p1 cos θ = βγ
m

2
+ γ

m

2
cos θ∗

p1 sin θ =
m

2
sin θ∗, (295)

und entsprechend für das zweite Photon (θ∗ → θ∗ + π). Aus (295) folgt dann

tan θ = sin θ∗

γ(β+cos θ∗) . (296)

Diese letzte Beziehung beschreibt die Winkeltransformation. Für θ∗ → 0 geht θ → 0 und

für θ∗ → π geht auch θ → π. Rückwärts (unter 180
◦
) emittierte γ im Ruhesystem des π0

werden also stets rückwärts im Labor emittiert, auch für β � 1 (hochrelativistisches π0
).

95

Exercise: calculate invariant
mass formula for massless
decay products (e.g. photons)
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Invariant mass: 3 body decay
In case of a 3-body decay:

We can construct three invariant masses:

For the three body case one finds:

Only two independent invariant masses
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Die entsprechenden Impulse im Schwerpunktsystem sind

A : E = 2
�

k2
p + m2

p ⇒ kp = 484 MeV/c,

B : E =
�

k2
d + m2

d +

����
2

kπ����
k2

d

+m2
π ⇒ kd = 179 MeV/c. (611)

In Abb. 152 wurde für die Reaktion B der gemessene Wirkungsquerschnitt σB unter der
Annahme sπ = 0 mit Glg. (607) nach σA umgerechnet. Die ausgezeichnete Übereinstim-
mung der Messungen σA und σB folgt aus der Zeitumkehrinvarianz für die starke Wech-
selwirkung. Daraus bestimmt man den Spin des Pions, sπ = 0.

12.2 3-Körperendzustand
Wir gehen von Glg. (590) aus und berechnen die Partialbreite für den Zerfall eines Zu-
standes R der Masse M in drei Tochterteilchen der Massen mj (j = 1, 2, 3):

R⇒ 1 + 2 + 3. (612)

Die Kinematik des 3-Körperzustandes wird durch zwei Parameter im Ruhesystem des
Zustandes R vollständig festgelegt, z.B. die kinetischen Energien T1 und T2. Dies folgt
aus folgender Überlegung: Im Endzustand werden 3 Teilchen mit Impulsen �kj emittiert
(3 ×3 = 9 Parameter). Aufgrund der Impuls- und der Energieerhaltung (4 Gleichungen)
können aber nur 9 - 4 = 5 Parameter frei gewählt werden. Ausserdem können die Ach-
sen des Ruhesystems beliebig gewählt werden131, wodurch 3 weitere Parameter (Euler-
Winkel) willkürlich sind. Also genügen 2 Parameter, um die Konfiguration des Endzu-
standes vollständig zu beschreiben.

Wir behandeln den Spezialfall, bei dem das ÜbergangsmatrixelementM konstant ist,
also nicht von diesen zwei Parametern abhängt. Die Partialbreite ist dann bis auf unwe-
sentliche Konstanten durch den 3-Körper-Phasenraum

dΓ ∝ d9R3 ≡
d3�k1

2E1

d3�k2

2E2

d3�k3

2E3
δ(�k1 + �k2 + �k3)δ(E1 + E2 + E3 −M) (613)

gegeben. Wir integrieren über �k3 = −�k1 − �k2:

d6R3 =
1

8

d3�k1

E1

d3�k2

E2

1

E3
δ(E1 + E2 + E3 −M), (614)

mit
E3 =

�
(�k1 + �k2)2 + m2

3. (615)

Nun wählen wir die z-Achse entlang �k1, sodass

d3�k2 = k2
2dk2d cos θdφ. (616)

131Z.B. mit der z-Achse in Richtung �k1 und der x-Achse senkrecht zur Ebene, die von den drei �kj aufge-
spannt wird.
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Abbildung 158: Verlauf der Intensität für ω → π+π−π0 (nach [74]).

12.2.3 Invariante Masse

Anstatt der kinetischen Energien verwendet man oft die Quadrate der invarianten Mas-
sen

m2
12 ≡ (P1 + P2)

2,

m2
13 ≡ (P1 + P3)

2,

m2
23 ≡ (P2 + P3)

2 (635)

als freie Parameter. Eine invariante Masse ist als Norm eines 4-Vektors Lorentz-invariant,
nimmt also in jedem Bezugssystem den gleichen Wert an. Allgemein lautet das Quadrat
der invarianten Masse mn eines n-Körpersystems:

m2
n = (

�n
1 Pi)2 = (

�n
1 Ei)2 − (

�n
1
�ki)2 . (636)

Stammt das n-Körpersystem aus dem Zerfall eines Zustandes der Masse M , dann ist
wegen der Energie- und Impulserhaltung P =

�n
1 Pi und mit M2 = P2,

M = mn, (637)

unabhängig vom Bezugssystem. Für den 3-Körperzerfall (612) findet man die Beziehung

m2
12 + m2

13 + m2
23 = m2

1 + m2
2 + m2

3 + (P1 + P2 + P3)
2

= m2
1 + m2

2 + m2
3 + M2. (638)

Also sind nur zwei invariante Massen als freie Parameter wählbar, wie erwartet.
Wir zeigen noch, dass die Dichte phasenraumverteilter Ereignisse im m2

12 vs. m2
13

Dalitzplot homogen ist. Aus (635) folgt, dass

m2
12 = (E1 + E2)

2 − (

−�k3� �� �
�k1 + �k2)

2 = (E1 + E2)
2 − (

M−E1−E2����
E3 )2 + m2

3,

m2
13 = (E1 + E3� �� �

M−E2

)2 − (�k1 + �k3� �� �
−�k2

)2 = (M − E2)
2 − E2

2 + m2
2. (639)

199

Abbildung 158: Verlauf der Intensität für ω → π+π−π0 (nach [74]).

12.2.3 Invariante Masse

Anstatt der kinetischen Energien verwendet man oft die Quadrate der invarianten Mas-
sen

m2
12 ≡ (P1 + P2)

2,

m2
13 ≡ (P1 + P3)

2,

m2
23 ≡ (P2 + P3)

2 (635)

als freie Parameter. Eine invariante Masse ist als Norm eines 4-Vektors Lorentz-invariant,
nimmt also in jedem Bezugssystem den gleichen Wert an. Allgemein lautet das Quadrat
der invarianten Masse mn eines n-Körpersystems:

m2
n = (

�n
1 Pi)2 = (

�n
1 Ei)2 − (

�n
1
�ki)2 . (636)

Stammt das n-Körpersystem aus dem Zerfall eines Zustandes der Masse M , dann ist
wegen der Energie- und Impulserhaltung P =

�n
1 Pi und mit M2 = P2,

M = mn, (637)

unabhängig vom Bezugssystem. Für den 3-Körperzerfall (612) findet man die Beziehung

m2
12 + m2

13 + m2
23 = m2

1 + m2
2 + m2

3 + (P1 + P2 + P3)
2

= m2
1 + m2

2 + m2
3 + M2. (638)

Also sind nur zwei invariante Massen als freie Parameter wählbar, wie erwartet.
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Example: Dalitz plot
As an example, let’s study the reaction:

We can measure two invariant masses

The so-called “Dalitz plot” shows the relation between (m13)2 and (m12)2

The Σ± resonance appears as two bands in the Dalitz plot around 1.4 GeV
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In (621) führen wir die Variablentransformation aus

d2R3 = π2dE1dE2 = F (m2
12, m

2
13)dm2

12dm2
13. (640)

Die Jacobi-Determinante ist

π2

F
= |∂(m2

12, m
2
13)

∂(E1, E2)
| = |

�
2(E1 + E2) + 2(M − E1 − E2) ...

0 −2(M − E2)− 2E2

�
|

= 4M2, (641)

also ist mit (640)
d2R3 = π2

4M2 dm2
12dm2

13 . (642)

Die Dichte der Ereignisse im Dalitzplot m2
12 vs. m2

13 ist also konstant.

  
Abbildung 159: Dalitzplot für K−p → π+π−Λ. Die gestrichelte Kurve in der Projektion rechts zeigt den
Verlauf der Intensität für phasenraumverteilte Ereignisse (nach [75]).

Als Beispiel zeigt Abb. 159 den Dalitzplot für die Reaktion

K−p→ Λ π+π− (Λ→ π−p), (643)

für 1.22 GeV/c-Kaonen [75]. Aus den gemessenen Impulsen der π+, π− und Λ im Labor-
system können direkt die invarianten Massen (635) berechnet werden. Die Anhäufung
von Ereignissen bei den invarianten Massen m12 ≡ m(Λπ−) und m13 ≡ m(Λπ+) � 1.4
GeV stammt aus dem Zerfall der Zwischenresonanz

Σ±(1387)→ Λπ±. (644)

Wegen der linearen Beziehung (638) zwischen den Quadraten der invarianten Massen (M
= Schwerpunktsenergie) würde eine Zwischenresonanz im 2π-System mit Masse m23 ≡
m(π+π−) als diagonales Band im Dalitzplot erscheinen.
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